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10% 1. Please find the ontput signal »(n of a circuit aystem, which is

described by the linear differential equation %+ Y == with

initial condition w(¢)=0 and the input signal 2000 2 nin - wd)

0% 2.

(3) Pleaso find 4% with 4n{ "' ;J
L

(b} Please show the following determinant
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2084 3. The Fourier Transform pair of a signal are defined as
R T P I :
Flw) = :E-?—j__ Si0e™d and fin= TEFJ-“’F{W}’MW

Please find the Fourier Transform Few) of the following signals
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{a}) fin e b} fin ===

i0% 4. If X is a diserete random variable with the probability mass function

4
PIK =k)= C( k}' k=01254 Find the constant .
0, stherwise

2004 5. The random variables ¥ and ¥ are uniformly distributed over a eirele of

unit radius with the prabability density function

Ciflcx® vy’ <]

M=
ad { 0, otherwise

5% (1) Find the constant <,
E5%(i)  Find the probability P{ X -¥i=1).

20%86. A pressure control apparatus containg 1000 electronic ubes.  The
apparatus will work if either one of the tubes is operative.  The
probability of failure of sach wbe during some interval of time i 0.004,

15%% {i). What is Ihe porresponding probability that the apparatus will

work ?

5% (i} If (he appearatus is cascaded 1o a similar electronic whbe, what

HNW

is the corresponding probability that the apparatus will

work ?




